m B Al B KSR R

(BH%)

o % B HE(Keg) HEOG 2 & hE(%) EHEHE
1 * ¥ ~N Y 379,038 14.8 2 46, 817, 166 8.4 124
2 = (A - A 352, 351 13.8 5 217,732,943 5.0 79
3 1= ES el F 332,030 13.0 4 30, 642, 062 ) 92
4 < A c A 175, 859 6.9/ 20 11,871,119 2.1 68
5 |[F A W L & 168, 934 6.6 13 15, 463, 905 2.8 92
6 (& < & (A 156, 569 6.1 24 6,270, 669 1.1 40
1 |k ~ ~ 145, 739 5.7 1 51,952, 953 9.3 356
8 ga) A L & 145, 113 5.7 6 24,687, 748 4.4 170
9 R F 96, 749 3.8 10 17, 660, 125 3.2 183
10 L 3 A o, 448 2.3 1 22,524, 858 4.0 392
"nmiz o & E It 53,972 2.1 9 19,414, 242 3.5 360
2,/ = + < k 92, 349 2.1 3 34,142, 488 6.1 652
13 & W 3 Y 49, 445 1.9 8 22, 362, 306 4.0 452
14 | A ES * 35, 438 1.4] 22 1,345, 620 1.3 207
5 &FE > A S 28, 560 1 n 16, 739, 483 3.0 586
16 | 73 El 28, 479 1119 11,911,730 2.1 418
17 | C E3 D AN 27, 583 1.1 16 12,699, 146 2.3 460
18 Z ES 3 24,036 0.9 27 9, 621, 621 1.0 234
19 L & C 20, 550 0.8 14 14,929, 383 2.7 126
20 |IZ ) 16, 982 0.7 15 14,145, 009 2.5 833
21 | A A 16, 201 0.6 38 2,544, 431 0.5 157
2 £ - ¥ v 16, 100 0.6 18 12,243, 884 2.2 760
23 | & & Ly % 13, 553 0.5 29 4, 548, 340 0.8 336
24 ' L W f= ¥ 11,299 0.4 17 12,252, 311 2.2, 1,084
25 | Z & 3 AN 10, 639 0.4 25 5, 860, 858 1.0 951
26 L w» A &F (< 10, 025 0.4 23 1,203, 264 1.3 719
217 72 @ v a ) — 9,872 0.4 30 4,331, 366 0.8 439
28 | 2 A 2 < 9,540 0.4 12 15,925, 518 2.8 1,669
29 iz b)) el 9,075 0.4 33 3, 336, 528 0.6 368
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(B 3)

o % H HE(Ke) RO T & @ E (%) TRBE
30 | & |2 ) — 9,063 0.4 317 2,971,188 0.5 328
3N F 5 vy Aa 1,588 0.3 35 3, 139, 991 0.6 414
2 n A = 1,331 0.3 34 3,224, 585 0.6 440
3 5 E 6, 348 0.2 32 4,246, 938 0.8 669
4 L & 5 N H 6, 055 0.2 28 4,970, 862 0.9 821
3% & Y 4,545 0.2 26 5,832,918 1.0, 1,283
36 | AN Ly % 4,506 0.2 41 1,745,172 0.3 387
317 B % X 4,264 0.2 39 2,044,916 0.4 480
3 | A# 2 & & 3, 591 0.1 36 3,053,614 0.5 850
39 b [+ =3 3, 361 0.1 31 4,276,130 0.8 1,272
40  » L b h 2,513 0.1 56 136, 659 0.1 293
A 3 (A = I+ 2,026 0.1 40 1,819, 249 0.3 898
210 F o Wb D 1,970 0.1 44 1,369, 823 0.2 695
43 X S 1,864 0.1 21 1,518, 853 1.3 4,034
MmN 7 3 — 1,666 0.1 60 478, 310 0.1 287
4 = A & S Ly 1,640 0.1 57 611,333 0.1 373
46 | A s 1,508 0.1 58 606, 342 0.1 402
a7 1h v + FH X 1,490 0.1 49 872,142 0.2 585
48 | & e & 1,470 0.1 52 848, 664 0.2 571
49 | X t ) 1,335 0.1 42 1,721, 460 0.3 1,294
5 | E — A 1,257 0.0 45 1,287, 111 0.2 1,024
ot | F Z 2 1,218 0.0 50 868, 534 0.2 713
5 |7 R N T A R 168 0.0 47 1,084, 428 0.2 1,412
53 Ea 2 152 0.0 54 778, 896 0.1 1,036
4 T ¥ v L v b 123 0.0 55 773,118 0.1 1,069
o | D ES Ho K 115 0.0 67 263, 412 0.0 368
5 | & & 2 & 691 0.0 61 473,904 0.1 686
T | v A +F A 606 0.0 53 842,508 0.2 1,39
°8 ¥ z R N 289 0.0 59 238, 380 0.1 914
5 12 A 12 < F 508 0.0 66 272,916 0.0 937
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(B 3)

£

o & B #HE(Ke) HE & @ E(%) T
60 | D [+ AN 447 0.0 64 285, 228 0.1 638
61 LL&ESMHBL 431 0.0 46 , 259, 388 0.2 2922
62 | 1= =) D 3* 396 0.0 43 , 433,937 0.3 3 621
63 F A 3 A 364 0.0/ 70 142, 852 0.0 392
64 L] 307 0.0 51 860, 177 0.2 2802
65 = * X A & 3 288 0.0 62 425, 844 0.1 1,479
66 < v a2 - L4 239 0.0 65 277,105 0.0 1,159
67 | - 7 5 182 0.0 48 914,015 0.2 5022
68 | 1= F o = 144 0.0 71 131,706 0.0 915
69 | # &£ 3 A 109 0.0 63 373, 464 0.1 3,426
70 i X 2 104 0.0 68 254,179 0.0 2444
n < el Ly 65 0.0 75 45, 684 0.0 703
2 % =) ES & o4 0.0 74 62, 532 0.0 1,158
3 L z o4 0.0 69 210,675 0.0 3, 901
4 & FA ] 52 0.0 72 124,913 0.0 2 402
% € A ~ 4 ¥ 13 0.0 76 29, 884 0.0 2299
76 | < (63 1 0.0/ 73 18, 894 0.0 11,271
7 | b =) [0} 1 0.0 77 4,104 0.0 4,104
1 TOMEEXRSE 5,187 0.2 2 3,288, 926 0.6 634
2 = 0o £ Y E 3,931 0.1 4 118, 637 0.1 220
3 ZDMEFDOTYE 2,934 0.1 1 4,251,197 0.8 1,449
4 TOMMmEHn 2,180 0.1 3 , 660, 068 0.3 761
S 2 o M B X H 499 0.0/ 5 251,748 0.0 905
6 £ ot R X 8 81 0.0 7 90, 170 0.0 1,113
T % o f H X 66 0.0/ 6 139, 320 0.0 2111

31 X H 2,553,230 100.0 559,840,679 100.0 219

(R%)

o % H HE(Ke) R T & #E E (%) THBE
T & A B 664, 732 43.7] 2 147,225, 492 21.9 221
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(BR=)

o % H HE(Ke) RO T & @ E (%) TRBE
2 y A = H 190, 526 12.5 3 40, 424, 034 1.1 212
3 | A 7+ 175, 311 11.5| 4 30, 781, 744 5.8 176
4 w5 Z H 141,101 9.3 1 178, 749, 310 33.8 1,267
5 Ly ES pa) A 44,650 2.9 17 9,504, 972 1.8 213
6 h =3 H 35, 636 2.3 5 13,902, 397 2.6 390
i FoO4 7L - 34,522 2.3/ 6 12,672, 655 2.4 367
8 =S o) = < 31,828 2.1 8 6, 796, 591 1.3 214
9 L £ > 15, 866 1.0 10 5,257, 245 1.0 331
10 nNA 7y 7T 12,428 0.8 11 2,633, 342 0.5 212
11 gL—=72I1L—Y 10, 420 0.7 13 2,584,079 0.5 248
12 E3 vy h ey 9,835 0.6 12 2,592, 864 0.5 264
13 NLYoF7HLUD 7,769 0.5 14 2,092, 640 0.4 269
14 |9 Ly ya) 7,138 0.5 17 1, 305, 828 0.2 183
15 | A m] > H 5,116 0.3 9 5,962, 248 1.1 1,165
16 | E i) 4] 3,380 0.2 18 943, 326 0.2 279
17 LAY L B 3,190 0.2 19 801, 900 0.2 251
18 | &5 & 5 H 3,124 0.2] 16 1,363, 813 0.3 437
19 A A 1= A 2,781 0.2] 15 1, 406, 808 0.3 505
20 =TT LD 750 0.0 21 147,960 0.0 197
21 | < Y 581 0.0 20 184, 140 0.0 317
1 T O i M B #E 113,197 7.4 1 58,072, 928 11.0 513
2 TOMBATERFTRE 4,295 0.3 2 1,973, 367 0.4 459
3 | o # B = 1,967 0.1 3 841, 212 0.2 428
4 ZTOMI—RZ%ELE 50 0.0/ 4 23,220 0.0 464

e S Hi 1,520, 259 100.0 528, 244,115 100.0 347
(B, NI

i ) = HE(Kg) HEOG ZH 2 B L (%) THE(E
1 + 4 L 31,511 40.8| 3 3,462,237 8.5 110
2 S L paN =3 16, 698 21.6| 1 23,912,474 58.7 1,432

R

BRHELHEH

20154 184

20154 184>




(BEN, MMIT &)

o % H HE(Ke) RO T & @ E (%) TRBE
3 5 O & 14,953 19.3] 2 3,991, 384 9.8 267
4 2 A I » < 3,187 4.1 6 790, 302 1.9 248
S ™M AT S LD 2,460 3.2 4 3,024, 561 .47 1,229
6 > 1 & O 7 1,601 2.1 5 1,189, 634 2.9 743
1 o mI M 053 0.7 9 244, 956 0.6 443
8 3 e & 3 330 0.4 11 204,163 0.5 619
9 = X & 292 0.4/ 8 254,739 0.6 872
10 & =2 -3 134 0.2/ 10 221,076 0.5 1,650
m o w % AN ) 129 0.2 7 462,973 1.1 3,589
12 180 F £ v 2 A 81 0.1 12 110,074 0.3 1,359
B+ L W = ¥ 6 0.0 13 37,519 0.1 6,253
T £ o # m I & 2,769 3.6 2 1,027, 266 2.5 371
2 T oOfhmIT¥H X 1,594 2.1 1 1,149,978 2.8 121
3 TofmITRRE 188 1.0 3 282,733 0.7 359
4 TOMmEEBERRE 195 0.2 4 267,948 0.7 1,729
5 T OB X 64 0.1 5 76,108 0.2 1,189

SEW. MI&E 77,305 100.0 40,710,125 100.0 921
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